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. GplwlOh U.CwhhOjwOh wOdwlh $hgiwp nwpngh Xl nwuwpwOh wwytpun  Uznuin

UnJuhujw(

Il ywng

. Bpluwbh phy 195 nwnpngh XII nwuwpwOh wwytpuinihh Lhihp Twqupwb
. Ywbwdnph phy 17 nwnngh Xl nwuwpwbh wwybpun Shgpwb Bnydwuwl

Il Yuwpg

. BplwlOh U.CwhhOwOh wOodwb $hqiwp nwpngh Xl nwuwpwOh wwytpun Lwpby

UnJuhujw(

{pwqnwbh phy 13 nwpngh Xl nwuwpwOh wwytpun Ywhwb Gphgnpjwb
Ywnuwpwwwuwnh phy 2 nwnpngh Xl nwuwnpwOh wwytpun Uneptn lwwswunpju
Yuwnuwpwwwuwnh phy 2 nwnpngh Xl nwuwnpwOh wwytpun Lwowqtnih Uwnpynuyjwl

Qnjwuwlwgntn

Ywbwadnnph phy 5 nwpngh Xl nwuwpwOh wwytpun UpGlo 2nhpwbjwb

Annphup phy 4 nwnngh Xl nuuwnpwOh wwytpun Ywyhp Lwnpwdjwl

UnjGdptpwbh wjwg nwpngh Xl nuwuwpwbh wwytpunnithp UnGdwoh 1nwpsjuib
GplwOh U.Chpwywgnt widwb A6dwpwbh X nwuwpwOh wwytpun Updsl Uwynptujwb
Swyniyh dwpgh Atpnwywah nwpngh X nwuwnpwOh wwytpun Enhy Uninnniuywb
Gplwlh U.Chpwywgnt wlwb AGdwpwlh X nwuwpwOh wwytpun <nyhwbGGu
Qphgnnjwl

Chpwyh dwpgh Pwwlnniph nwpngh Xl nwuwpwbOh  wwybpunnithh Qnhwn
<nyhwbGhuyjwl

SpLlwbh phy 83 nwpngh Xl nwuwpwbh wywytpun Uwplbinu {wjpwwtunjw
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